
Phone (209) 400-7200  Fax (209) 943-7923  www.wildhorses4x4.com

Rear Bump Stop Mounting Bracket
#1561     Date 10/30/07

Parts list:	
2 - rear bump stop 
mounting brackets

1.   	Remove the factory bump stops by removing the two 5/16” bolts that secure the bump stop to the frame.
2.   	Using the supplied 5/16” tapered bolts, install the mounting plates to the frame. Make sure that the mounting 
      plate sits flat on the frame.
3.	   Install the new bump stops to the mounting bracket using the supplied nuts and washers.

Hardware list:
4 - 5/16-18x3/4” Flat Head Allen Screws
4 - 5/16-18” NC Nylock Nuts
4 - 5/16” Flat Washers
1 - Instructions

Suggested Tools:
1 - 3/16” Allen Wrench
2 - Ratchet Driver
3 - 1/2” Socket


